
١

 
–

 











 



 

 
 

 
 

 
 

 
 

 
 

 
 

 
 


 

NADP 


NADP 
 

HCl 
 

 
 

HCl 
 

 
 





٢




 


 






 


 
 




 


 
 

 








 
 

 
 


 

 
 

 


 
k

k 



 


 
 



٣










 


NAD+


 


 
 





 

 


 



 

 
 

CO2






 

 
 


 

 
 

 
 

 



 



٤

 
 

 
 

 
 

 
 

 


 



 




 


 
 


 

 
 

 
 

 
 

 


 
 

 
 


 

 


 
 




 
 



٥

 





 
 


 

 



 

 


 


 
 

 
 


 

 


 
 


 




 


 
FSH 

 
 

 
 

 


 
 

LH 
 



٦

 


 
 

 
 

 
 


 

 
 

 


 
 

 
 
 

 
 


 

 


 
 


 




 لانجرهانز 
 

 


 
 
 

 
 

 
 






٧


 





.

 


. 
 

–
 

– 


 
 


 

 





 


 
أذرع نجم 

 
 

 
 


 

 


 
 



 

 



––

 



٨

 
––

 
 


 

 
 

 
 

 
 

 
 

LH FSH 
FSHLH

 
 


 




 


 
 




 


 
 


 

 
 

 



 

 



 



٩

AAB 
BABB–antib

 
Rh-Rh- 

 
 


 

 
 


 

 
DNA


 

 
DNA

DNA 


mRNA
DNA 

DNA 
DNA 

 
 

 
 

 
 

 
mRNA 

mRNAmRNA
 

tRNA 
tRNAmRNAtRNA

mRNAtRNA 
rRNA 

rRNA
 

 
 



١٠

mRNAAUG 
 

DNA 
 

DNA 
DNA


 

DNA 
DNA

DNA 


 
 





 RNA

mRNADNA

 mRNA
mRNA

AAA 
 

 
 

 




 


